

100% ...

100% ...

100% ...

$$T_s \frac{e}{1-r} \rightarrow \frac{e}{r}$$

$$\frac{e}{r} \cdot 1 = \frac{e}{r}$$

-1

-2

$$x = \sin \alpha = \frac{1}{r} \cos \alpha \rightarrow x = \frac{1}{r} \rightarrow \frac{1}{\omega} = \frac{1}{r} \sin \alpha = \frac{1}{r} (1 - \cos \alpha) = 0$$

$$\frac{1}{r} \sin \alpha = \frac{1}{r} \sin \alpha \cdot \frac{1}{\omega} = 0 \rightarrow \sin \alpha = r \cos \alpha \cdot \omega \rightarrow \sin \alpha = \frac{r \cos \alpha}{1 - \cos \alpha} \cdot \frac{1}{\omega} \cdot \frac{1}{\omega}$$

$$\frac{1}{r} \rightarrow \frac{1}{\cos \alpha} = 1 + \tan^2 \alpha \rightarrow \frac{1}{r} = \frac{1}{n} + \frac{1}{n}$$

-3

$$\frac{1}{r} \sin \alpha = \frac{1}{r} \cos \alpha, \frac{1}{r} \rightarrow \frac{\sin \alpha}{\cos \alpha} = r \rightarrow \tan \alpha = r \cos \alpha$$

$$\sin \alpha + \cos \alpha = 1 \rightarrow |\cos \alpha| = 1 \rightarrow \cos \alpha = \pm 1 \rightarrow \frac{1}{r} \sin \alpha = \pm 1 \rightarrow \sin \alpha = \pm r$$

$$\sin \alpha + \cos \alpha = \frac{1}{\omega} \rightarrow (1 - \cos \alpha) + \cos \alpha = \frac{1}{\omega} \rightarrow 1 - \cos \alpha + \cos \alpha = \frac{1}{\omega} \rightarrow \frac{1}{\omega} = \frac{1}{\omega}$$

$$\frac{1 - \cos \alpha}{\sin \alpha} + \cos \alpha = \frac{1}{\omega} \rightarrow \sin \alpha + \cos \alpha = \frac{1}{\omega}$$

-4

$$\frac{\sin \alpha}{\cos \alpha} = \frac{1}{\cos \alpha} \rightarrow \frac{\sin \alpha}{\cos \alpha} = \frac{1}{\cos \alpha} \rightarrow \cos \alpha < 0$$

$$\frac{\sin (r \cos \alpha)}{r - r \cos \alpha} < 0 \rightarrow \frac{\sin \alpha (r \cos \alpha)}{r \cos \alpha} < 0 \rightarrow \sin \alpha < 0$$

$$(r(1 - \cos \alpha))$$

$$r \cos \alpha$$

100%

-5

$$\frac{r}{\sin \alpha} + \frac{r}{\cos \alpha} = \frac{r \cos \alpha + r \sin \alpha}{\sin \alpha \cos \alpha} \Rightarrow r \cos \alpha + r \sin \alpha = \cos \alpha \sin \alpha \cdot \frac{r \sin \alpha}{r}$$

$$\tan \alpha + \cot \alpha = \frac{\sin \alpha}{\cos \alpha} + \frac{\cos \alpha}{\sin \alpha} = \frac{\sin^2 \alpha + \cos^2 \alpha}{\sin \alpha \cos \alpha} = \frac{1}{\sin \alpha \cos \alpha} = \frac{1}{\frac{1}{2} \sin 2\alpha} = \frac{2}{\sin 2\alpha}$$

$$\frac{1 + \sin \omega}{\sin \omega \cdot \sin l} \rightarrow \frac{1 + \sin \omega}{\sin \omega \cdot \sin l} = \frac{\sin \omega + \sin \omega}{\sin \omega \cdot \sin l} = \frac{2 \sin \omega}{\sin \omega \cdot \sin l} = \frac{2}{\sin l}$$

$$\sin \omega + \sin l = \frac{r \sin \omega}{r} + \frac{r \sin l}{r} = \frac{r \cos \omega}{r} + \frac{r \cos l}{r} = \frac{r \cos \omega + r \cos l}{r}$$

$$1 + \sin \omega = \sin \omega + \sin \omega \rightarrow \cos \omega = \sin \omega + \sin l \rightarrow \cos \omega = \sin \omega + \sin l \rightarrow \cos \omega = \sin \omega + \sin l$$

$$\sin \alpha + \cos \alpha = r \rightarrow \sin \alpha + \cos \alpha = r \rightarrow \sin \alpha + \cos \alpha = r \rightarrow \sin \alpha + \cos \alpha = r$$

$$\sin \alpha \sin \beta = \frac{1}{2} (\cos(\alpha - \beta) - \cos(\alpha + \beta)) \rightarrow \sin \alpha \sin \beta = \frac{1}{2} (\cos(\alpha - \beta) - \cos(\alpha + \beta))$$